
�������������	
��� ���
���
�������� 	�
��
��������� �	� ������������ �������
�
�����

������������
��� ��� !"�!" #$% &� #$% $'!$% �()*(�%

#$� � *��+'%%$!%,- .*$!

/(�"$�$"* /(!
�'0�123-4%1 �-(5 % �00�

 �% 6$'�'" 7��*

$'!"$�$',-* 8$'5 9 ,-8$�$',- 3-4%')
#$� :!'/$�%'*;* �'$"$!

�'$"$! <==>



��

��������� 	�� 
����������
�
����� 
�� 
������	 �� ��������
����� 
�� ����� �� ����
����� 
�� �������� ����������


���� 	�� 
���������
� � � !���� "  #

��������
�$��������
�
����� 
�� 
������	 �� ��������
����� 
�� ����� �� ����
����� 
�� %���� �����


&
���
�������$����
 	�� '
�(�����)�����������$ �����
� *+,-,.,-/0-1.2-3456789:



�*����0,����*,�


�� !
���� (�
 ����$�
	 �
	 �������� ��� 	�� ���
��
�����
����� �����
������� 	�	


���� ����������� ���������
� 	�� ��� 
���
��	 �
	 ��
�����������
 �
������������� ��
	�

���
 ����
����)
	� �
 	�� ���$	
��������
� ��
	 	�� %�������(	����
��� ������� !���
!�� 	����� ���
	���� ���	�
 ��������
��� 
���
��	 �
	 ��
�����������
 ��
�������� 	���

����
����)
	� �
 	�� ���$	
��������
� ��� ���������
 ����
���
 �����	�� ��
	� 	�� �� &
	
���(��� [−1,+1] ��������� ��
�� ����������
$���
 ��
 �������
�������� ���	�
� ��	�� ����
����
��� ��� ��
 ���� 
���
��	 �
	 ��
�����������
 ������	
��� �� 
���	�� �� 	�� ��	
��������
$���
�
 ����������� �	�� �
����������� ��
	� ���	 �������
 (����������
����

�
	 ����������
 
���
��	 �
	 ��
�����������
 �
��������	�
� �� ���	�
 ���� $�������
	��	
��
	� !����$���
��	 �
	 !������
�����������
 (�� (����������
����
 �
	 ����������
 ����
��
�������� 
�� ����
����)
	� 	�� �����
����������
 �
	 �
(����
 �����
����������
 �����	
����
 ���	�
 �
�������� �
	 	��� (����
	��� �� 
��������
��
 ���������� ���
��
����)
	
	� ����� �
��������
	� ���������
����$����(�������
��
 �� 	�

����
� ��� 	�� $���������

�������
���
 ����
��� ���	�
 ��������� �������� �
������
�

��������
 ���	�
 ����
�
�������������
 ��� �����������
���
� 	�� ����
�
������
 ���	
��
���������
 (�
 ����$�
	 �
	 �������� ��
�������� 	�� ��� 	�
 (����������
����
 ����
����������
 
���
��	 �
	 ��
�����������
 �
 �������
� �����
� 
�� ����
����)
	� 	�� ���
!����������������
 ���$�
	�
 ����
�
�������������
 ��
	 �

������ 	�� ��
�����$������ 	�	


���� �
	 ���	�
� �����
 ��� 	�� 
��������
� 	�� ��
�������������� ����������
� (����������	

���� $��)��
�� ����)
	�� &
 	����� ���� $�

�
 	���� ����	���
���
��� ���������
����	
$����(�������
��
 �

������ 	�� ��
�����$������ �
	 	����� ����������
	� �����
(�������
��

	�

���� ���	�
� &� ���� 	�� $���������
 �������
���
 ����
��� ����
 	�� ����
����)
	�
	�� (����������
����
 �
	 ����������
 ����
�
�������������
 ��� ��������
����
$���
�

	�� �����������������


2F1
	 ����

4F3
	��
$���
�
� 
�� 
��������
� 	�� ��
��������������

�����	��� ��
� ��������� ���
����������
��
����������� ���	�
 	�� ����
����)
	� 	�� ����
�
�������������
� 	�� ��� 	�
 $���������


�������
���
 ����
���
 �� �������
��
� �����
� ���������� �
	�� (����������
���� ��	
��������������� ����)
	� ��
������� ���	�
� 	���
 ��������
����
$���
�
 	�� (����������	

����
 �����������������
 ��
$���
�


pFq
��
	� &
 !��)
���$��� (�� 
�
(����
���	��� 	��

(����������
����
 �����������������
 ��
$���
�
 ���	 �������
 (����������
����
 �����	
������������
 ����)
	�
 �
 	�� �������
 ���
�� �

������ 	�� ��
�����$������ �
	 ��� 	��
��
�����$���� �
��������	�
� 
����
���
 (����������
����
 �����������������
 ����)
	�� 	��
	�� 
��������
� 	�� ��
�������������� ����������
� ���	�
 ��� $��)��
�� (����������
����
����������������� ����)
	� 	�

����� 
���� $�

�
 ��� ����� ��� 
��������
� ���������� ��	
��)
	� �� ������

	 ���� ���	�	���� (����
	�� ���	�
 �
	 	�

����
 (����������
����
����������������� ������	��������
��
 �
	 	����� ����������
	� �����
(�������
��
�



  



Quantum Phase Operators Related to

Orthogonal Polynomial Sets

Thomas Appl

2005

Abstract

The approach of Susskind and Glogower to the quantum phase problem defines Hermitian

operators, which may be interpreted as cosine and sine operators. Their eigenstates in the Fock

representation are the Chebyshev polynomials of the second kind. On the basis of this approach

more general cosine and sine operators are introduced, whose eigenstates in the Fock representation

are given by arbitrary orthogonal polynomial sets on the interval [−1,+1] with respect to a weight

function. To every polynomial set there corresponds a pair of cosine and sine operators. Depending

on the symmetry of the weight function one distinguishes between generalized and extended cosine

and sine operators. Corresponding arccosine and arcsine operators of the generalized and extended

type are introduced. The eigenstates of the trigonometric and inverse trigonometric operators are

studied and used to define corresponding representations of an arbitrary quantum state as well as

corresponding probability distributions. Explicit examples are given for the classical orthogonal

polynomials.

Further, exponential operators generalizing the Susskind-Glogower exponential phase opera-

tors are introduced in terms of the cosine and sine operators. The eigenstates of the lowering

exponential operators are defined on the unit disk and yield generalized coherent states if they

admit a resolution of unity. In this case they can be used to define two-dimensional probability

distributions (Q-functions) on the unit disk and corresponding phase distributions as marginal

distributions. In the case of the classical orthogonal polynomials the eigenstates of the generalized

(extended) operators are normalized to the hypergeometric functions 2F1 (4F3); the resolution of

unity needs a special treatment as a limiting case.

Finally, extending the class of states encounted above, generalized hypergeometric states nor-

malized to the generalized hypergeometric functions pFq are introduced. Depending on the radius

of convergence of pFq, one distinguishes between generalized hypergeometric states on the (whole)

plane, on the unit disk and on the unit circle. The states yielding a resolution of unity define the

generalized hypergeometric coherent states. They can be used to define representations of an arbi-

trary state in the appropriate Bargmann and Hardy spaces, respectively, as well as corresponding

generalized hypergeometric Husimi distributions and (marginal) phase distributions.
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2 â , Ê†
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〈n|ĈSG|n′〉
)

=















0 1
2

0 0 . . .
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〈n|[ĈSG, ŜSG]−|n′〉
)

=















i
2

0 0 0 . . .

0 0 0 0 . . .

0 0 0 0 . . .

0 0 0 0 . . .��� ��� ��� ��� � � �















�
��)�� ��
 ��
����� 
����	(�������
	�
	�� �����������
�� 
)����� 	�
 �������
������ ���
	�
 
��������� �� ��$��������
	�


�����
 $�������
	����
 	�� 
����������
 	�� �����
�
������������� 4(5 ��
�������
�
	 	�� 
���
����������� 4�)5 ���� ��
����������� 4�,5 �
	���������
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ÊSG =
∞
∑

n=0

|n〉〈n+ 1|, 4",�5

Ê†
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Hn(x)
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 �� $���������
 �����
���� ��
� )�
����� �����

��� 	�� ���
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	 s
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c �
	 p
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 ��
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���� ��
	�����
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������
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	 q
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 ��
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〈n|F (ĈSG)|n′〉 =

+1
∫

−1

dc 〈n|c〉SG F (c) SG〈c|n′〉 4(*5

�
	 	�� ��
����������� �� ���$	����

〈n|F (ŜSG)|n′〉 =

+1
∫

−1

ds 〈n|s〉SG F (s) SG〈s|n′〉 4+ 5

	���� &
��������
 ���� c ����
s ����������� &
�����
	��� $�

�
 	�� �����������
�� (�
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��
 	�� 
���
����������� �� ���$	����

〈n|Ĉk
SG|n′〉 =

+1
∫

−1

dc 〈n|c〉SG ck SG〈c|n′〉 4+�5

�
	 	�� ��
����������� �� ���$	����

〈n|ŜkSG|n′〉 =

+1
∫

−1

ds 〈n|s〉SG sk SG〈s|n′〉 4+"5
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 ��� ��
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����������� ��� ���$	����)
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�����
�
	�� ����������� k	������ !
��
	�
� 	�� ��$�����
��������
� 4(+5 ������
	�
 !��	���$

xk un(x) =
1

2k

k
∑

j=0

(

k

j

)

un+k−2j(x),
4+'5
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 ����� ���� %�������(	��
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�
� n < 0
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�
� ���)� 	�� 
�

����
 4',5 (�������
	�� ���� 	�� %�������(	����
�� U−1(x)
�
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�
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$���
�
 ������� !�� ���
n ≥ 0
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U−n(x) = − Un−2(x), u−n(x) = − un−2(x).
4+(5

��� �����
	�
� (�
 4+'5 �
	 4+(5 �
	 �����
 ���� ��� 4+�5 �
	 4+"5 	�� �������
�������
	��

k	��
 ����
� 	�� 
���
����������� �� ���$	����

〈n|Ĉk
SG|n′〉 =

1

2k

(

k
n−n′+k

2

)

− 1

2k

(

k
n+n′+k

2
+ 1

) 4++5

�
	 	�� ��
����������� �� ���$	����

〈n|ŜkSG|n′〉 =
in−n

′

2k

(

k
n−n′+k

2

)

− in−n
′

2k

(

k
n+n′+k

2
+ 1

) 4+#5

��������
� ����� ��� 	�� ���	�
 ����� ��� 	�� ������
 ����� �
 4++5 ���� 4+#5 	�� !������	
�����


n− n′ + k

2
= 0, 1, 2, . . . , k bzw.

n+ n′ + k

2
+ 1 = 1, 2, 3, . . . , k

4+)5
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 4+)5 
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� 4++5 ���� 4+#5�
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 	�� ��
�������������� �������


+1
∫

−1

dc |c〉SG SG〈c| =

+1
∫

−1

ds |s〉SG SG〈s| = 1̂,
4+,5
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SG〈c|c〉SG = δ(c− c′), SG〈s|s〉SG = δ(s− s′).
4+*5
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	�

|c〉SG =

√

2

π
4
√

1 − c2
∞
∑

n=0

Un(c)|n〉 =

∞
∑

n=0

un(c)|n〉,
4# �5

|s〉SG =

√

2

π
4
√

1 − s2

∞
∑

n=0

in Un(s)|n〉 =
∞
∑

n=0

inun(c)|n〉
4# �5
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�

SG〈c|n〉 =

√

2

π
4
√

1 − c2 Un(c)
4#�5

���� ��
��	��������
�

SG〈s|n〉 = (−i)n
√

2

π
4
√

1 − s2 Un(s)
4#"5
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(−i)n
���� ��	�� ��������� ���
��
�����
�����

�����
	 |ψ〉 � 	����
 ���$	
��������
� 〈n|ψ〉 ��$�

� ���� ��� ���� �
 	�� ����� 	�� 
���
��	
�
	 ��
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SG〈c|ψ〉 =
∞
∑

n=0

SG〈c|n〉〈n|ψ〉,
4#'�5

SG〈s|ψ〉 =

∞
∑

n=0

SG〈s|n〉〈n|ψ〉.
4#'�5
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P(SG)
|ψ〉 (c) = |SG〈c|ψ〉|2,

4#(�5

P(SG)
|ψ〉 (s) = |SG〈s|ψ〉|2

4#(�5
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P(SG)
|ψ〉 (c) =

∞
∑

n=0

∞
∑

n′=0

〈ψ|n〉 〈n|c〉SG SG〈c|n′〉 〈n′|ψ〉, 4#+�5

P(SG)
|ψ〉 (s) =

∞
∑

n=0

∞
∑

n′=0

〈ψ|n〉 〈n|s〉SG SG〈s|n′〉 〈n′|ψ〉. 4#+�5
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ψn ≡ 〈n|ψ〉 = |〈n|ψ〉| �inγ ≡ b(ψ)
n

�inγ 4##5
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P(SG)
|ψ〉 (c) =

∞
∑

n=0

[b(ψ)
n un(c)]

2 + 2

∞
∑

n=1

n−1
∑

n′=0

b
(ψ)
n′ b

(ψ)
n un(c)un′(c) cos[(n− n′)γ]

4#)5
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P(SG)
|ψ〉 (s) =

∞
∑

n=0

[b(ψ)
n un(s)]

2 + 2

∞
∑

n=1

n−1
∑

n′=0

b
(ψ)
n′ b

(ψ)
n un(s)un′(s) cos[(n− n′)(γ − π

2
)]

4#,5
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+1
∫

−1

dc P(SG)
|n〉 (c) =

+1
∫

−1

dc |SG〈c|n〉|2 = 1,
4#*�5

+1
∫

−1

ds P(SG)
|n〉 (s) =

+1
∫

−1

ds |SG〈s|n〉|2 = 1
4#*�5
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∞
∑

n=0

P(SG)
|n〉 (c) =

∞
∑

n=0

|〈n|c〉SG|2 6= 1,
4) �5

∞
∑

n=0

P(SG)
|n〉 (s) =

∞
∑

n=0

|〈n|s〉SG|2 6= 1.
4) �5
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 〈q|n〉 �
	 〈p|n〉 � 
���
 ��	�����	���� ��
	 ���� ��
�

�������� ����(�������
� ���� &�����(�������
� ��� ��
�
 ���$	�����
	� ���� $��
� 
��	
������ �����
�
����(�������
� ��� 	�
 ����	 �	�� &����������
	� 	�� ��
�� ���������

����
���� q ����

p
������	
�� ����


�� 
���
��	 �
	 ��
��(�������
��
 
��� ����$�
	 �
	 �������� ��� ��
�
 ���������

���$	�����
	

P(SG)
|n〉 (c) = [un(c)]

2 =
2

π

√
1 − c2 [Un(c)]

2,
4)��5

P(SG)
|n〉 (s) = [un(s)]

2 =
2

π

√
1 − s2 [Un(s)]

2 4)��5

��
	 �	�
������ 	� 	�� $�������
 
���
��	 �
	 ��
������)
	� ���� ��	������ �
 	�� �����
�
��������	�
� 
�� 
���
��	 �
	 ��
��(�������
��
 �)
��
 (�
 	�� !
����
� 	�� ���$	
�����
	� |n〉 �
	 	���� (�
 	�� �
����� 	�� ���
��
�����
�����
 ����������� ��� 
�����




��� �����
�� 
�� ���
����
���
���� �+

��
	 	�� 
���
��	 �
	 ��
��(�������
��
 	�� $���������
 �����
�����
 ����������� �"*�

Pkl(c) =
1

π

1√
1 − c2

, Pkl(s) =
1

π

1√
1 − s2

4)"5
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c = ±1 ����
s = ±1 (��	

�����
	�� 	�� ���� 	�� ���
��
�����
�����
 ��������
��
� �)���
	 	�� ���� 	�� $�����	
����
 ��������
��
 �
 	����
 ������
 ����
 '
�
	���� ����� 
�� !
���� 	�� ������ ��� 	�

���
��
�����
�����
 ��������
��
 �)
�� (�
 	�� !
����
� 	�� �����
	� �� �
	 ����)��
n+1

� �
	 	�� !
���� 	�� ����������
 ����)�� n+2
� 
�� 
�
����
 	�� ���
��
�����
�����


��������
��
 
)���
 ���� ��� ���� !
����
��
 n 	�
�
 	�� $���������
 ��������
��
�
������ 	�� $���������
 ��� ���� 	�� ���
��
�����
�����
 
���
��	 �
	 ��
��(�������
	

��
 �����
 ���������
 �� 	�
 ��$�

��
 $���������
 ���� ���
��
�����
�����
 ����	 �
	
&�����(�������
��
 	�� �����
�����
 ����������� ���� &
 ���	�
 �)���
 ���������� 	�� ���
��
	
�����
����� ���������
����$����(�������
� �� 	�� $��������� ���������
����$����(�������
�
�
	 
)���� ���� 	����� ��� ��
����
	�� !
����
� n�

7�5�7 . ��,*�6 *,/ "�,*�!0+�0��*,�0, ��+ # 1/+0,�0 �*��/,/0


�� !
��
	�
� 	�� ����������
����������� �""�

D̂(α) =
�αâ†−α∗â,

4)'5
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〈n|α〉 = b(α)
n

�inϕα, b(α)
n ≡ �− |α|2

2
|α|n√
n!
,

4)(5
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 |α| = 1 �
	 ϕα = 0
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ϕα = 1 ����

ϕα = 2
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	 !����������������
â†
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√
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P(C)
|α〉 (c) =

∞
∑

n=0

[

b(α)
n pn(c)
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∞
∑

n>n′=0

b(α)
n b

(α)
n′ pn(c)pn′(c) cos[(n− n′)ϕα],
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P(S)
|α〉 (s) =

∞
∑
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]2
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∞
∑
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b(α)
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n′ pn(s)pn′(s) cos[(n− n′)(
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Ĉ |c〉 = c |c〉, −1 ≤ c ≤ +1,
4� #�5

Ŝ |s〉 = s |s〉, −1 ≤ s ≤ +1.
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��� ���
���
�� ��� �����
�� 
�� ���
������
���� '�

−1.0 −0.5
 �  �+ �� 

c

 � 

 �"

 �(

 �#

 �,

�� �����������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
����������������������
������������������������������
��������������������������
����������������������
���������������������
����������������������
�����������������������
����������������������������
������������������������������������������
����������������������������������
����������������������������
������������������������
����������������������
���������������������
��������������������
��������������������
��������������������
���������������������
���������������������������������������������������������������������������������

������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
���������������������������������

����������������������������
�������������������������
�����������������������
����������������������
���������������������
��������������������
�������������������
�������������������
�������������������
�������������������
�������������������
�������������������
����������������������
����������������������
����������������������
����������������������

������������������������������������������������������������

������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
���������������������������������

���������������������������
������������������������������

���������������������������������������������������������������������������
�����������������������
��������������������
�����������������
�������������������
�������������������
�������������������
������������������
�������������������
�������������������
�������������������
�

������������������������������������������������������

��������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
������������������������

������������������
����������������
����������������
����������������
����������������
����������������
����������������
����������������
����������������
����������������
����������������
����������������
������

������������������������������������������

|α = 1〉

|α = i〉

|α = 1 + i〉

|0〉

λ = −1
4

−1.0 −0.5
 �  �+ �� 

c

 � 

 �"

 �(

 �#

 �,

�� ������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
���������������������������������
���������������������������
�����������������������������
�����������������������
�����������������������
������������������������
������������������������������
���������������������������������
���������������������������
������������������������
����������������������
���������������������
���������������������
��������������������
���������������������
���������������������
���������������������
����������������������
������������������������������������������������������������������������������

�����������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
�����������������������������
���������������������������
���������������������������
�������������������������������
�������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

����������������������
����������������������
����������������������
����������������������
����������������������
����������������������
����������������������
����������������������
����������������������
����������������������
����������

������������������������������������������������������������

����������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
�������������������������������

���������������������
������������������������
����������������
���������������������
���������������������
������������������
��������������������
��������������������
�������������������
����������������
�������������������
�������������������
�������������������
������������������
�������������������
�������������������
���������

������������������������������������������������������

������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
������������������������

��������������������
����������������
��������������
��������������
����������������
����������������
����������������
����������������
����������������
����������������
��������

������������������������������������������

|α = 1〉

|α = i〉

|α = 1 + i〉

|0〉

λ→ 0

−1.0 −0.5
 �  �+ �� 

c

 � 

 �(

 �,

��"

��#

"� 

��������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
�������������������������������������������

��������������������������������
���������������������������
���������������������������
���������������������������
�������������������������
��������������������������
�������������������������
�������������������������
��������������������������
�������������������������
�������������������������
�������������������������
�������������������������
��������������������������
�������������������������
�������������������������
�������������������������
���������������������������������������������������������������������������������������������

��������������������������������������������
�����������������������������������

�������������������������������
��������������������������������
����������������������������������

������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

������������������������������������������������������������������

��������������������������������������������������������������������������������������������������������������������������������������������������������������������������
��������������������������������

�����������������������
�����������������������
����������������������
���������������������
���������������������
������������������
��������������������
��������������������
��������������������
��������������������
��������������������
��������������������
��������������������
���������������������
�������������������
���������������������������������������������

������������������������������������������������������������

���������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

������������������������������������������������

|α = 1〉

|α = i〉

|α = 1 + i〉

|0〉

λ = 1
2

−1.0 −0.5
 �  �+ �� 

c

 � 

 �,

��#

"�(

'�"

(� 

���������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
�������������������������������������������

��������������������������������
����������������������������
���������������������������
��������������������������
�������������������������
��������������������������
�����������������������������
�����������������������
�����������������������
���������������������������
�������������������������
�������������������������
�������������������������
�������������������������
��������������������������
������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

�������������������������������������������������������������������������������������

����������������������������������������������
������������������������������������������

�������������������������������������������
���������������������������������������������

��������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

������������������������������������������������������������������

��������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
�������������������������������

���������������������������
������������������
�����������������������
����������������������
����������������������
�����������������������
��������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

������������������������������������������������������������

����������������
��������������������������������

����������������������������������������������������������������������������������������
�����������������������������������������������������������������������������������������������������������������������������������������������������������������������

������������������������������������������������

|α = 1〉

|α = i〉

|α = 1 + i〉

|0〉

λ = 1

!����	�
� ,� 
���
��(�������
��
 P(C)
|α〉 (c)

��� 	�� $��)��
��
 ����)
	� |α = 1〉 � |α = i〉 �
	

|α = 1 + i〉 ����� 	�� 
���
��(�������
��
 P(C)
|0〉 (c)

��� 	�
 ��$��������
	 |0〉 � ������� ���
	�
 ���������


λ = −1
4

�
λ→ 0

�
λ = 1

2
�
	 λ = 1

�



'" � ��	����������	��� ��	 �������� ��� �����
�������

−1.0 −0.5
 �  �+ �� 

s

 � 

 �"

 �(

 �#

 �,

�� �����������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
����������������������������������������

����������������������������������
��������������������������������
������������������������������
�����������������������������
��������������������������
��������������������������
�����������������������������
������������������������
����������������������
����������������������
������������������������
�����������������������������
��������������������
����������������
������������������
���������������������
�������������������������������������������������������������������������������������

���������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
�������������������
�������������������
�������������������
�������������������
�������������������
����������������������
����������������������
����������������������
����������������������
����������������������
����������������������
����������������������
����������������������
����������������������
����������������������
����������������������
�������������������

������������������������������������������������������������

������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
���������������������������������

���������������������������
������������������������������

���������������������������������������������������������������������������
�����������������������
��������������������
�����������������
�������������������
�������������������
�������������������
������������������
�������������������
�������������������
�������������������
�

������������������������������������������������������

��������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
������������������������

������������������
����������������
����������������
����������������
����������������
����������������
����������������
����������������
����������������
����������������
����������������
����������������
������

������������������������������������������

|α = 1〉

|α = i〉

|α = 1 + i〉

|0〉

λ = −1
4

−1.0 −0.5
 �  �+ �� 

s

 � 

 �"

 �(

 �#

 �,

�� �������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
�����������������������������������
����������������������������������
����������������������������������
�������������������������������������
���������������������������������������������������

�����������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
����������������
����������������������
����������������������
�������������������������
����������������
�������������
���������������
�������������������
�����������������������������
�������������������������������������������������������������������������������������������������������
�����������������������
�����������������������������������������������������������������������������������������

�������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
���������������������������
���������������������
��������������������
�������������������
�������������������
�������������������
�������������������
���������������������
����������������������
����������������������
����������������������
����������������������
����������������������
����������������������
����������������������
����������������������
����������������������

������������������������������������������������������������

������������������������������������������������������������������������������������������������������������������������������������������������������
������������������������������

���������������������������
������������������
����������������������
���������������������
�����������������
��������������������
��������������������
��������������������
�������������������
�������������������
��������������������
�����������������
�������������������
�������������������
�������������������
������������������
���������

������������������������������������������������������

������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
������������������������

��������������������
����������������
��������������
��������������
����������������
����������������
����������������
����������������
����������������
����������������
��������

������������������������������������������

|α = 1〉

|α = i〉

|α = 1 + i〉

|0〉

λ→ 0

−1.0 −0.5
 �  �+ �� 

s

 � 

 �(

 �,

��"

��#

"� 

����������������������������������������������������
�������������������������������������������

���������������������������������������
����������������������������������������
�����������������������������������������

��������������������������������������������������������
�������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

�������������������������������������������������������������������������������������

�����������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
�����������������������������

������������������������
���������������������
���������������������
����������������������
����������������������
����������������������
����������������������
����������������������
����������������������
����������������������
����������������������
����������������������
����������������������
����������������������
����������������������
�������������������

������������������������������������������������������������������

��������������������������������������������������������������������������������������������������������������������������������������������������������������������������
��������������������������������

�����������������������
�����������������������
����������������������
���������������������
���������������������
������������������
��������������������
��������������������
��������������������
��������������������
��������������������
��������������������
��������������������
���������������������
�������������������
���������������������������������������������

������������������������������������������������������������

���������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

������������������������������������������������

|α = 1〉

|α = i〉

|α = 1 + i〉

|0〉

λ = 1
2

−1.0 −0.5
 �  �+ �� 

s

 � 

 �,

��#

"�(

'�"

(� 

�����������������������������������������������������������
������������������������������������������������������

�������������������������������������������������
���������������������������������������������������������

�����������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

�������������������������������������������������������������������������������������

������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
������������������������������

�������������������������
����������������������
���������������������
��������������������
��������������������
����������������������
����������������������
����������������������
����������������������
����������������������
����������������������
����������������������
����������������������
����������������������
������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

������������������������������������������������������������������

��������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
�������������������������������

���������������������������
������������������
�����������������������
����������������������
����������������������
�����������������������
��������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

������������������������������������������������������������

����������������
��������������������������������

����������������������������������������������������������������������������������������
�����������������������������������������������������������������������������������������������������������������������������������������������������������������������

������������������������������������������������

|α = 1〉

|α = i〉

|α = 1 + i〉

|0〉

λ = 1

!����	�
� *� ��
��(�������
��
 P(S)
|α〉 (s)

��� 	�� $��)��
��
 ����)
	� |α = 1〉 � |α = i〉 �
	

|α = 1 + i〉 ����� 	�� ��
��(�������
��
 P(S)
|0〉 (s)

��� 	�
 ��$��������
	 |0〉 � ������� ��� 	�

���������


λ = −1
4

�
λ→ 0

�
λ = 1

2
�
	 λ = 1

�



��� ���
���
�� ��� �����
�� 
�� ���
������
���� ''


�� (����������
����
 �
	 ����������
 
���
��	 �
	 ��
�����������
 �����
 �� ��������

���
� 	��� 	���
 ��
�����
 �
 	�� ����
�����������
��
 4� #�5 ���� 4� #�5 �
	 	�� �
������	
��
	� �����$���
 ��� 	�
 ���$	�����
	 〈n| 	�� ��$�����
��������
��


fn
2

〈n + 1|c〉 +
fn−1

2
〈n− 1|c〉 + gn 〈n|c〉 = c 〈n|c〉, 4� )�5

fn
2i

〈n+ 1|s〉 − fn−1

2i
〈n− 1|s〉 + gn 〈n|s〉 = s 〈n|s〉 4� )�5

������
� 
�� ��������� ��� 	�� ��������
� 	�� ����
����)
	� 	�� 
���
��	 �
	 ��
�����	
������
 (�
 ����$�
	 �
	 �������� �� !����
��� "�' ����� ��� 	�� (����������
����
 �
	
����������
 
���
��	 �
	 ��
�����������
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Ĉ =
f(N̂)
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N̂ + 1
â + â†

f(N̂)
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N̂ + 1
+ g(N̂),
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√
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ŜL =
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N̂ ĈL

�−i π
2
N̂ , ĈL =
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2
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{H, cos θ} = − sin θ, {H, sin θ} = cos θ.
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σρCC = 〈Ĉ2〉ρ − 〈Ĉ〉2ρ, σρSS = 〈Ŝ2〉ρ − 〈Ŝ〉2ρ.
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〈[N̂, Ĉ2 + Ŝ2]−〉ρ = i
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fn(gn + gn+1) [<(ρn+1,n) − =(ρn+1,n)].
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∑
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〈n|[N̂, Ĉ]−|n〉 = 〈n|[N̂, Ŝ]−|n〉 = 0, σ
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NC = σ
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NS = 0.
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〈α|Ĉ|α〉 = F1 cosϕα +G1, 〈α|Ŝ|α〉 = F1 sinϕα +G1.
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σ
|α〉
CC = (F2 − F 2

1 ) cos2 ϕα +
F+ − F2

2
+ (G+ − 2F1G1) cosϕα +G2 −G2

1,
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σ
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SS = (F2 − F 2

1 ) sin2 ϕα +
F+ − F2

2
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1,
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(cosϕα + sinϕα) +G2 −G2
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lim
|α|→∞

〈α|Ĉ|α〉 = cosϕα, lim
|α|→∞
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〈α|[Ĉ, Ŝ]−|α〉 = i [F− −G−(cosϕα + sinϕα)] ,
4�+*5

〈α|Ĉ2 + Ŝ2|α〉 = F+ + 2G2 +G+(cosϕα + sinϕα) ,
4�# 5

〈α|[N̂, Ĉ]−|α〉 = −iF1 sinϕα ,
4�#�5

〈α|[N̂, Ŝ]−|α〉 = iF1 cosϕα .
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Θ̂ c = arccos Ĉ =
π

2
1̂ −

∞
∑

k=0

(−1)k

2k + 1

( −1
2

k

)

Ĉ2k+1 4�#'�5

Θ̂s = arcsin Ŝ =
∞
∑

k=0

(−1)k

2k + 1

( −1
2

k

)

Ŝ2k+1.
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arccos Ĉ =
π

2
1̂ − arcsin Ĉ,

4�#(5

arccos Ŝ =
π

2
1̂ − arcsin Ŝ,
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[Θ̂c, Ĉ]− = 0, [Θ̂s, Ŝ]− = 0.
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Θ̂c |c〉 = arccos c |c〉, Θ̂s |s〉 = arcsin s |s〉. 4�#)5
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c = cos θc
�
	 s = sin θs
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0 ≤ θc ≤ π, −π
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≤ θs ≤ +
π
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|θc〉 ≡
√

sin θc

[

|c〉
]

c=cos θc

=
√

sin θc

∞
∑

n=0

pn(cos θc) |n〉, 4�#*�5

|θs〉 ≡
√

cos θs

[

|s〉
]

s=sin θs

=
√

cos θs

∞
∑

n=0

in pn(sin θs) |n〉
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|θ
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〉 = θ
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|θ
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|θ

s
〉 = θ

s
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sin θs

Ĉ |θc〉 = cos θc |θc〉, Ŝ |θs〉 = sin θs |θs〉.
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〈θc|θ′c〉 = δ(θc − θ′c), 〈θs|θ′s〉 = δ(θs − θ′s),
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π
∫

0

dθc |θc〉〈θc| =

+ π
2

∫

−π
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dθs |θs〉〈θs| = 1̂.
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ψ(Θc)(θc) ≡ 〈θc|ψ〉 =
√

sin θc
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∑

n=0

pn(cos θc) ψn,
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ψ(Θs)(θs) ≡ 〈θs|ψ〉 =
√

cos θs

∞
∑

n=0

(−i)n pn(sin θs) ψn.
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Θ̂s = e+i π
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N̂
[π

2
1̂ − Θ̂c

]

e−i π
2
N̂ , Θ̂

c
= e−i π

2
N̂
[π

2
1̂ − Θ̂s

]

e+i π
2
N̂ .
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|θs〉 =
[

e+i π
2
N̂ |θc〉

]

θc=
π
2
−θs

, |θc〉 =
[

e−i π
2
N̂ |θs〉

]

θs= π
2
−θc

.
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|θc〉SG =

√

2

π

∞
∑

n=0

sin[(n + 1) θc] |n〉,

|θs〉SG =

√

2

π

∞
∑

n=0

in sin[(n+ 1)(
π

2
− θs)] |n〉,
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P(Θc)
ρ (θc) = sin θc

[

P(C)
ρ (c)

]

c=cos θc
,
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P(Θs)
ρ (θs) = cos θs

[

P(S)
ρ (s)

]

s=sin θs
.
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〈F (Θ̂
c
)〉ρ =

π
∫

0

dθc F (θc) P(Θc)
ρ (θc) =

+1
∫

−1

dc F (arccos c) P(C)
ρ (c),

4�),�5

〈F (Θ̂
s
)〉ρ =

+ π
2

∫

−π
2

dθs F (θs) P(Θs)
ρ (θs) =

+1
∫

−1

ds F (arcsin s) P(S)
ρ (s).
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P(Θc)
|n〉 (θc) = sin θc p

2
n(cos θc) , P(Θs)

|n〉 (θs) = cos θs p
2
n(sin θs) .
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P(Θc)
|n〉 (θc) =

2

π
sin2[(n+ 1)θc] , P(Θs)

|n〉 (θs) =
2

π
sin2[(n+ 1)(

π

2
− θs)] .
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P(PB)
|n〉 (θ) = P(W)

|n〉 (θ) = P(Q)
|n〉 (θ) =

1

2π
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π
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, 〈n|Θ̂s|n〉 = 0
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Ê0 |n〉 = gn |n〉.

4�,*5



+# � ��������������	���	��

�������
 	�
 $���������
 ����
�
����	� 
���
��	 �
	 ��
����
$���
�
 ������� 	�� �����	
��
��

�±iθ = cos θ ± i sin θ .
4�* 5


�� (����������
����
 ����
�
�������������
 ������ !�� ��
	 ��� ����� 	�

�����
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	 Ê† �
	 ������� !�� Ê �
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Ê† = Ê†.
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�
+π
∫

−π

dθ |θ〉〈θ| =
∞
∑

n=0

1

ρ(n)
|n〉〈n| 4"')5
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������� !�� Un(x) �� �������
��
� �����
���� ��� 	�� ������� ' ���(������� ��� �
 	�����
���� 	�� �����������
$���
 ρ(n) = 1

��� ����
n
� 
���� ��
	��� �� ���� �� 	�� ��$�
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|θ〉SG =
1√
2π

∞
∑

n=0

einθ|n〉. 4"',5
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1

π

∫

D

d2ε W(|ε|2) |ε〉〈ε| = 1̂.
4"'*5


���� ���	 ���� 	�� 
�����)��� D = (ε, |ε| ≤ 1)
�
 	�� $�������
 ε	���
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���������
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 W(|ε|2) �
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 ρ(n)
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 ζ = |ε|2 �
	 n = s−1
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1
∫

0

dζ ζs−1 W̃(ζ) = ρ(s− 1),
4"( 5

���

W̃(ζ) =
W(ζ)

N (ζ)
.

4"(�5
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 ρ(s) �)��� ���� 	�� $�������
	����
	� ����������
$��	
�
 �
��������� ��� 	�
 �������
 ���� 	�� �����
	���
���������
�
 ������
� ������ �������

���	�
 �������������� (�
 ���������
��� �'#�� �������( �')� �	�� ���	
�$�( �� ��

�

�',� ��	
���������

��� 	�� $���������
 ����
��� ��� 	�� �����
	���
���������
 	��
s	���)
����
 !
�����

	�� �����������
$���
 4"��5 	���� 	�� �������
� �+�" �
 	�� ������� �'#� ������


1
∫

0

dζ ζs−1(1 − ζ)γ−1
2F1(α, β; γ; 1− ζ) = Γ(γ)

Γ(s)Γ(s+ γ − α− β)

Γ(s+ γ − α)Γ(s+ γ − β)
,

4"("5
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<(γ) > 0, <(s) > 0, <(s) > <(α+ β − γ).
4"('5
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|τ ; ε〉 = [N (τ ; |ε|2)]− 1
2

∞
∑

n=0

εn
√

ρ(τ ;n)
|n〉. 4"((5
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ρ(τ ;n) =
Γ(λ) Γ(λ+ 1 + τ)

Γ(2λ)

n! Γ(n + 2λ)

Γ(n+ λ) Γ(n+ λ+ 1 + τ)

4"(+5

�
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N (τ ; |ε|2) = 2F1(λ, λ+ 1 + τ ; 2λ; |ε|2) . 4"(#5
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Ê(τ) =
∞
∑

n=0

fn(τ) |n〉〈n+ 1| 4"()5

���

fn(τ) =

√

(n + 1)(n+ 2λ)

(n + λ)(n+ λ+ 1 + τ)
.
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W(τ ; |ε|2) =
Γ(λ) Γ(λ+ 1 + τ)

Γ(2λ) Γ(τ)
(1 − |ε|2)τ−1

× 2F1(1 − λ+ τ,−λ; τ ; 1 − |ε|2) 2F1(λ, λ+ 1 + τ ; 2λ; |ε|2). 4"(*5
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lim
τ→0+

1

π

∫

D

d2ε W(τ ; |ε|2) |τ ; ε〉〈τ ; ε| = 1̂,
4"+ 5
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ρ(τ ;n) =
n! (β1)n (β2)n (β3)n

(α1)n (α2)n (α2)n (α3 + τ)n

4"+�5
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N (τ ; |ε|2) = 4F3(α1, α2, α2, α3 + τ ; β1, β2, β3; |ε|2) .
4"+"5
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W(τ ; |ε|2) =
Γ(α1) Γ(α2) Γ(α2) Γ(α3 + τ)

Γ(β1) Γ(β2) Γ(β3)
4F3(α1, α2, α2, α3 + τ ; β1, β2, β3; |ε|2)

× G4, 0
4, 4

(

|ε|2
∣

∣

∣

∣

α1 − 1, α2 − 1, α2 − 1, α3 + τ − 1

β1 − 1, β2 − 1, β3 − 1, 0

)

,
4"+'5
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Q|ψ〉(α) = 1
π
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Q|ψ〉(ε) =
1

π
W(|ε|2) 〈ε|ψ〉〈ψ|ε〉 . 4"+(5
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Q|ψ〉(τ ; ε) =
1

π
W(τ ; |ε|2) 〈τ ; ε|ψ〉〈ψ|τ ; ε〉 . 4"++5
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∫

D

d2ε Q|ψ〉(τ ; ε) = 1 .
4"+#5
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θ
����� ��� ��
� ��	���(�������
�

P|ψ〉(τ ; |ε|) = |ε|
+π
∫

−π

dθ Q|ψ〉(τ ; |ε|�iθ)
4"+)5
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�

P|ψ〉(τ ; θ) =

1
∫

0

d|ε| |ε| Q|ψ〉(τ ; |ε|eiθ) .
4"+,5
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1
∫

0

d|ε| P|ψ〉(τ ; |ε|) = 1,

+π
∫

−π

dθ P|ψ〉(τ ; θ) = 1.
4"+*5
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 ���� ζ = |ε|2 ������ ���)� 4"( 5

1
∫

0

dζ
W(τ ; ζ)

N (τ ; ζ)
ζ

n+n′

2 = ρ(τ ;
n+ n′

2
).
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τ → 0

������ 	��� 	�� �����
(�������
��
 ��� ��
�
 ���������
 
��������
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	 |ψ〉

P|ψ〉(θ) =
1

2π

∑

n,n′

ψn ψ
∗
n′ G(n, n′)

�−i(n−n′)θ, ψn = 〈n|ψ〉 4"#�5
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G(n, n′) =
ρ(n+n′

2
)

√

ρ(n) ρ(n′)
,

4"#"5
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 ρ(n)
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	 �
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Pρ(θ) =
1

2π
+

1

π

∞
∑

k=1

∞
∑

n=0

G(n+ k, n) [<(ρn+k,n) cos(kθ) + =(ρn+k,n) sin(kθ)].
4"#'5
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〈cos(kθ)〉ρ =
∞
∑

n=0

G(λ)(n+ k, n) <(ρn+k,n),
4"#(5

〈sin(kθ)〉ρ =
∞
∑

n=0

G(λ)(n+ k, n) =(ρn+k,n).
4"#+5
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σρcos θ cos θ =
1

2
+

1

2
〈cos 2θ〉ρ − 〈cos θ〉2ρ,

4"##5

σρsin θ sin θ =
1

2
− 1

2
〈cos 2θ〉ρ − 〈sin θ〉2ρ.

4"#)5

��� 	�� ����� ������ ������
 ���� 	�� �������
�������

〈θ〉ρ = −2

∞
∑

k=1

∞
∑

n=0

(−1)k

k
G(λ)(n+ k, n) =(ρn+k,n),

4"#,5

〈θ2〉ρ =
π2

3
+ 4

∞
∑

k=1

∞
∑

n=0

(−1)k

k2
G(λ)(n+ k, n) <(ρn+k,n),

4"#*5
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�����	��� σρθθ = 〈θ2〉ρ − 〈θ〉2ρ ��������
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|ρn+k,n|�ikϕ
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θ − ϕ���)
��

Pρ(θ) =
1

2π
+

1

π

∞
∑

k=1

∞
∑

n=0

G(n+ k, n) |ρn+k,n| cos[k(θ − ϕ)].
4") 5
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G(λ)(n, n′) =
Γ(n+n′

2
+ 1) Γ(n+n′

2
+ 2λ)

Γ(n+n′

2
+ λ) Γ(n+n′

2
+ λ+ 1)

×
√

Γ(n+ λ) Γ(n′ + λ) Γ(n + λ+ 1) Γ(n′ + λ+ 1)

n! n′! Γ(n+ 2λ) Γ(n′ + 2λ)
.
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1

π

∫

d2z pWq(|z|2) |p; q; z〉 〈p; q; z| = 1̂,
4"*�5
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�� �����
���
 ������(�
 ����������
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pWq(|z|2)
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R
∫

0

dy yn pW̃q(y) = pρq(n), n = 0, 1, 2, . . . ,
4"*"5

�����
pW̃q(y) = pWq(y)/pNq(y)

� ��� 	�� ����)
	� �
 	�� ���
� ��� 	�� ����� &
�����	
���
����
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R = ∞ � �
	 ��� 	�� ����)
	� �

������ 	�� ��
�����$������ ����� 	�� �����
&
��������
����
�� ��� R = 1

� 
�� �
��$�

�� ��������
�
pW̃q(y)
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� ��
��
����
��
�������� 
��� ��������� �� ����

R = ∞ �
	 
��� ����	��� �� ����
R = 1 ���
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 ���)� �������
� 4",'5 ������
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���	�� �� ��
�
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 �������� 	��� 	��
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� �
 ���	�
 �)���
 ��� ����� 	�� �����
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���������
 ����
	�
 ���	�
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����
	�� �������
� n→ s−1
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 �������
� 4"*"5� ����� s ��
� $������� ���� ���� ��
	 	�� ������	
��
�

pW̃q(y)
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pρq(s − 1) ������� ��
�� �����
	���
���������
 �����
�
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R
∫

0

dy ys−1
pW̃q(y) = pρq(s− 1), s = 1, 2, 3, . . . .

4"*'5
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R
∫

0

dy ys−1 Gq+1, 0
p, q+1

(

y

∣

∣

∣

∣

a1 − 1, . . . , ap − 1

b1 − 1, . . . , bq − 1, 0

)

= Γ(s)
Γ(s+ b1 − 1) · · ·Γ(s+ bq − 1)

Γ(s+ a1 − 1) · · ·Γ(s+ ap − 1)
,

4"*(5
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	 ��� 	�� 	�� ������ ����� 	�� (�
 s ���)
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pρq(s− 1)

���� 
����� ������ 	��� 	�� ����������
$���
 �
 4"*�5 ������
 ��� 	����

pWq(y) ≡ pWq(a1, . . . , ap; b1, . . . , bq; y)

=
Γ(a1) · · ·Γ(ap)

Γ(b1) · · ·Γ(bq)
pFq(a1, . . . , ap; b1, . . . , bq; y)

× Gq+1, 0
p, q+1

(

y

∣

∣

∣

∣

a1 − 1, . . . , ap − 1

b1 − 1, . . . , bq − 1, 0

)

.
4"*+5
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p < q + 1
4"*#5

�	��
p = q + 1, η > 1

4"*)5
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pWq(y)
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pWq(y)
�� ��� ������ ���	����)
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������ 	�� ���
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�����$������ ���������� ��� 	�� η > 1�����
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pWq(y)
� �� 	�� ����������
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pWq(y)
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pWq(y)
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� 
��� �����
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�
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����������
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 	�� ����

〈Φ|Ψ〉 =
1

π

∫

d2z pΦ
∗
q(z) pΨq(z),

4"*,5
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��
 ���	����)
	� 	�
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pΨq(z) =
√

pWq(|z|2) 〈p; q; z|Ψ〉 =

[

pWq(|z|2)
pNq(|z|2)

] 1
2 ∞
∑

n=0

(z∗)n
√

pρq(n)
〈n|Ψ〉. 4"**5
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 |Ψ〉 �������
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pΨ̃q(z
∗) =

∞
∑

n=0

(z∗)n
√

pρq(n)
〈n|Ψ〉. 4'  5
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〈Φ|Ψ〉 =

∫

pdµq(z
∗) pΦ̃q(z

∗) pΨ̃q(z
∗),

4' �5

��� 	�� ���

pdµq(z
∗) =

1

π
pWq(|z|2)
pNq(|z|2)

d2z∗.
4' "5
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p = q = 0
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z =

�iϕ �
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��������	�
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	� ��� 	�� ��
�����$���� 4

η < 0
5

|p; q; �iϕ〉 =
1

√

pNq(1)

∞
∑

n=0

�inϕ
√

pρq(n)
|n〉 4' '5
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����

|p; q;ϕ〉 =
1√
2π

∞
∑

n=0

�inϕ
√

pρq(n)
|n〉. 4' (5
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2π
∫

0

dϕ pW̃q(ϕ)
�i(n−m)ϕ = pρq(n) δn,m

4' +5
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pW̃q(ϕ)
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pW̃q(ϕ)
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n 6= m
� ��	���� 	���� ��
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�
���
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 ���	� 	�� 
���� 	�� ����� ��� 	�� ������
 ����� ��� ����
n = m
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����
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� 
�� 
��	������ �������� �����
	 |1; 0;

�iϕ〉 ��� 
���� �������� 	� ���
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����� ������	
���

a

���� ������������ 	�� ��	�
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��
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	 |2; 1;
�iϕ〉 ��� η = a1 +a2 − b < 0
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� ��� 	��
��������
 �����������������
 ��
$���
� 	�� 	�� ��
� ��� !�����
� ��������

2F1(a1, a2; b; 1) =
Γ(b) Γ(b− a1 − a2)

Γ(b− a1) Γ(b− a2)
.

4' #5
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a→ 1
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 ����$�
	 �
	 �������� ��'� �����

|1; 0;ϕ〉
∣

∣

a→1
= |ϕ〉 =

1√
2π

∞
∑

n=0

�inϕ |n〉. 4' )5
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1ρ0(n) = 1 ���

n = 0, 1, 2, . . .
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a→ 1
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1W̃0 = 1/(2π)
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	 q ���	�
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pρq(n)
� 	�� ��������
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pFq(ζ)
�
	 	�� ����������
$���


pWq(|z|2) �

������
�

��� 	�� ���	����)
	� �
 	�� ���
� 4
p < q + 1

5 ���	 	�� $������� �������� z ���
α ��	

�����
��� ����� |α| < ∞ � ��� 	�� ���	����)
	� �

������ 	�� ��
�����$������ 4
p = q + 1

5
���	 	�� $������� �������� z ���

ε �������
��� ����� |ε| < 1
�

4�7�8 ��0 �*��/,/0 |α〉 = |0; 0;α〉

�� $�
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���
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 $��)��
��
 ����)
	� |α〉 = |0; 0;α〉 �
��������
 	�� �����������

p =

q = 0
� ��� 	�� $�
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 $��)��
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 ����)
	� ��
	 	�� �����������
$���
� 	�� ���	
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 �
	 	�� ����������
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 	����

0ρ0(n) = n!, 0F0(ζ) =
�ζ , 0W0(|α|2) = 1.

4' ,5
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p = q �
	 aj = bj
��� ����

j = 1, 2, . . . , p
	�����������

4�7�7 ��0 �*��/,/0 |0; 1;α〉
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0ρ1(b;n) = n! (b)n,
4' *5

��� 	�� ������
	 4",*5 	�� ��	�
��
� b > 0
����� ����
 	�� ��������
����
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0F1(b; ζ) = Γ(b) ζ
1−b
2 Ib−1(2

√

ζ),
4'� 5
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	 	�� ����������
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 ���)� �������
� +�'* ��� ����� �*# �
 �'#�

0W1(b; |α|2) = 2 Ib−1(2|α|) Kb−1(2|α|),
4'��5
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	 Kν(y)
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ν > −1 �
	 y > 0	�� ��	�
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0W1(b; |α|2) 	�

 ������(� ��

 b > 0
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4�7�& ��0 �*��/,/0 |1; 1;α〉
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1ρ1(a; b;n) =
n! (b)n
(a)n

4'�"5
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1W1(a; b; |α|2) =
Γ(a)

Γ(b)
1F1(a; b; |α|2) �−|α|2 Ψ(a− b; 2 − b; |α|2), 4'�'5

����� Ψ(a; b; ζ)
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4�7�3 ��0 �*��/,/0 |1; 0; ε〉
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 ��� 	�� �����������
$���


1ρ0(a;n) =
n!

(a)n
,
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� a > 0
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$���
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1F0(a; ζ) = (1 − ζ)−a,
4'�+5

�
	 	�� ����������
$���
 ���)� �������
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1W0(a; |ε|2) =
a− 1

(1 − |ε|2)2
.
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a > 1
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1W0(a; |α|2)
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 ����
a = 2k ���

k = 1
2
, 1, 3

2
, . . .
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k = 1
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|1; 0; ε〉
∣

∣

a→1
= |ε〉 =

√

1 − |ε|2
∞
∑

n=0

εn |n〉. 4'�)5
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2ρ1(a1, a2; b;n) =
n! (b)n

(a1)n(a2)n
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2F1(a1, a2; b; ζ)
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2W1(a1, a2; b; |ε|2) =
Γ(a1) Γ(a2)

Γ(b) Γ(a1 + a2 − b− 1)
(1 − |ε|2)a1+a2−b−2

2F1(a1, a2; b; |ε|2)

× 2F1(a2 − b, a1 − b; a1 + a2 − b− 1; 1 − |ε|2), 4'�*5
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2W1(a1, a2; b; |ε|2)
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�� ����
a1 = b
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a2 = b ������� 	�� �����
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pÛq =
∞
∑

n=0

pfq(n) |n〉〈n+ 1|, pÛ
†
q =

∞
∑

n=0

pfq(n) |n+ 1〉〈n|. 4'" 5
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pfq
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	 ������
 	����

pfq(n) ≡ pfq(a1, . . . , ap; b1, . . . , bq;n) =

√

(n+ 1)
(n+ b1) · · · (n+ bq)

(n+ a1) · · · (n+ ap)
,
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�����
0f0(n) =

√
n+ 1

� ���
p = 0 ���	�
 	�� ���	�$�� �� �)���� �
	 ��� q = 0
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pÛq =p Ûq(a1, . . . , ap; b1, . . . , bq), pÛ
†
q =p Û

†
q (a1, . . . , ap; b1, . . . , bq).
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[

pÛq, pÛ
†
q

]

=
∞
∑

n=0

(

pfq(n)2 − pfq(n− 1)2
)

|n〉〈n|, 4'"'5

�����
pfq(−1) = 0
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pÛq |n〉 = pfq(n− 1) |n− 1〉, pÛ
†
q |n〉 = pfq(n) |n+ 1〉 4'"(5
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pÛq |p; q; z〉 = z |p; q; z〉. 4'"+5


�� �����������
$���
�

pρq(n)
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pfq(n)
	����������

pρq(n) =
(

pfq(0) pfq(1) pfq(2) · · · pfq(n− 1)
)2

.
4'"#5
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pfq(n)
	���� √

n+ 1f(n)
������� ��� �
	 f(n) ��������� ��
$���	
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p < q + 1 ���	�

pÂq = pÛq
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pÂ

†
q = pÛ

†
q
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0Â0 = â =
∞
∑

n=0

√
n+ 1 |n〉〈n+ 1|. 4'")5
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����������� �� ��� 	���� 
��������
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pÂ
†
q
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pÊq = pÛq
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pÊ

†
q = pÛ

†
q

	�

����� 
�� 4$��)��
��
5 ���	
����)
	� �

������ 	�� ��
�����$������ ��
	 	�� ����
����)
	� |p; q; ε〉 (�
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 ε
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1Ê0
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1Ê0(a)
∣

∣

a→1
= ÊSG =

∞
∑

n=0

|n〉〈n+ 1|. 4'",5
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pQ̂q =
1√
2

(pÂ
†
q + pÂq), pP̂q =

i√
2

(pÂ
†
q − pÂq)
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pĈq =
1

2
(pÊ

†
q + pÊq), pŜq =

i

2
(pÊ

†
q − pÊq)
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pĈq

�
	
pŜq
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〈n|p; q; z〉 =
[

pNq(|z|2)
]− 1

2
zn

√

pρq(n)
.
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P|p;q;z〉(n) =
|z|2n

pρq(n) pNq(|z|2)
.
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〈p; q; z|
[

N̂(N̂ − 1) · · · (N̂ − k + 1)
]

|p; q; z〉 =
yk

pNq(y)

dk

dyk
pNq(y)

∣

∣

∣

∣

y=|z|2
.
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〈p; q; z|N̂ |p; q; z〉 = y
pN ′

q(y)

pNq(y)

∣

∣

∣

∣

y=|z|2
,
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Q
(|p;q;z〉)
M = y

(

pN ′′
q (y)

pN ′
q(y)

− pN ′
q(y)

pNq(y)

) ∣

∣

∣

∣

y=|z|2
,
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dk

dyk
pFq(a1, . . . , ap; b1, . . . , bq; y)

=
(a1)k · · · (ap)k
(b1)k · · · (bq)k pFq(a1 + k, . . . , ap + k; b1 + k, . . . , bq + k; y).
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yk

pFq(a1 + k, . . . , ap + k; b1 + k, . . . , bq + k; y)
,
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〈p; q; z|N̂ |p; q; z〉 = y
a1 · · ·ap
b1 · · · bq

pFq(a1 + 1, . . . , ap + 1; b1 + 1, . . . , bq + 1; y)

pFq(a1, . . . , ap; b1, . . . , bq; y)

∣

∣

∣

∣

y=|z|2
.
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M = y
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− a1 · · ·ap
b1 · · · bq

pFq(a1 + 1, . . . , ap + 1; b1 + 1, . . . , bq + 1; y)

pFq(a1, . . . , ap; b1, . . . , bq; y)

+
(a1 + 1) · · · (ap + 1)

(b1 + 1) · · · (bq + 1)
pFq(a1 + 2, . . . , ap + 2; b1 + 2, . . . , bq + 2; y)

pFq(a1 + 1, . . . , ap + 1; b1 + 1, . . . , bq + 1; y)

)

∣

∣

∣

∣

y=|z|2
.
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M = |ε|2

(

(a1 + 1)(a2 + 1)

(b+ 1)
2F1(a1 + 2, a2 + 2; b+ 2; |ε|2)
2F1(a1 + 1, a2 + 1; b+ 1; |ε|2)

− a1a2

b
2F1(a1 + 1, a2 + 1; b+ 1; |ε|2)

2F1(a1, a2; b; |ε|2)

)

.
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〈α̃|p; q; z〉 =

[ �−|α̃|2

pNq(|z|2)

]
1
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n=0

(α̃∗z)n
√

n! pρq(n)
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p = q = 0

Q|ψ〉(α̃) = Q
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|ψ〉 (α̃).
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∣

∣
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|ψ〉 (θ) = 1,
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|ψ〉 (θ) =

1

2π

∞
∑

n,n′=0

ψn ψ
∗
n′ G(p,q)(n, n′)

�−i(n−n′)θ 4'#+5

����� ψn = 〈n|ψ〉 	�� ���$	
����
�
��
 	�� ���
�������
	�� |ψ〉 ��
	� 
�� 
������
��

G(p,q)(n, n′)

��
	 	���� 	�� �����������
$���
�

pρq(n)

	����������

G(p,q)(n, n′) =
pρq(

n+n′

2
)

√

pρq(n) pρq(n′)

4'##5

�
	 ����
 ����� 	�� �������
 ����$����
 ��� 	�� 
������
��
 �
 4"#"5� 
���
��������
	
��
	 	�� 
������
��
 ����������� G(p,q)(n, n′) = G(p,q)(n′, n) ��������� n �
	 n′ �
	 
��	
����� G(p,q)(n, n) = 1

� ��	���� 	�� ��������
����	�
��
� 4'#(5 ���)��������� ���	� 
��

������
��
 G(p,q)(n, n)

�
������
 	�� &
��������
�
 	�� �
��������
	�
 �����
	� |p; q; z̃〉 �
�� &
��������
�
 	�� ���
�������
	� |ψ〉 ��
	 �������������� �
 	�� ���	�$� ψnψ∗
n′

�
����	
��
� ��

 	�� ������ 	���� ��
�
 
������������� ρ̂ ����������
 ���	� 	�

 ��� �
������ 	��
���	�$�� ψnψ∗

n′

	�� 
����������������
� �
 	�� ���$	
��������
� ρn,n′ = 〈n|ρ̂|n′〉 �� (��	
��
	�
� &
 	����� ���� �������
� �
 	�� �������
� 4'+*5 �
������ (�
 |ψ〉〈ψ| 	�� !��	���$
ρ̂
�

�� (����������
����
 �����������������
 �����
(�������
��
 4'#+5 ����
 ������ 	��

������� ����$��� ��� 	�� �����
(�������
��
 4'++5 ��� 	�� $�
(�
���
����
 ������	��������
�
�
	 �
��������	�
 ���� ��	������ 	���� 	�� ���	�
 
������
��
 G(p,q)(n, n′) �
	 G(Q)(n, n′)

�
���

p = q = 0
����
 	�� (����������
����
 �����������������
 �����
(�������
��
 4'#+5 �


	�� �
��������
	�
 �����
(�������
��
 4'++5 ��� 	�� ������	��������
� ����� 
��� ������
���� ���� ��� 	�� �������
�

G(0,0)(n, n′) = G(Q)(n, n′),
4'#)5



� ( � ��	����������	�� ����	������	����� ���������	���������

	�� ��� 	�� �������
��
� �������
 	�
 
������
��
 4")'5 �
	 4'##5 ������ ����� ��������
���� �
 ��
�� ��$����������
 ���� 	���������� ��
	

G(p;q)(n, n′) = G(Q)(n, n′)
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